
Assembly Manual / Guide d’assemblage /  
Manual de ensamblaje /              /  

Montageanleitung

353 cm (138.98 in/po)
288 cm (113.39 in/po)

29
1.

5 
cm

 (
11

4.
76

 in
/p

o)

조립 설명서

Sojag code: 999-8163414

CUP/UPC code: 772830163414 



3

S X 12 (+2 )

U X 21 (+3)

Wa X 2

Y X 24 (+5) W2 X 1

X X 16 (+2)

T X 64 (+7)

V X 220 (+10)

X1 X 8 (+2)

Z X 1 

W2 X1 W2 X1

W2 X1

W2 X1

W2 X1
W2 X1 W2 X1

W2 X1

W2 X1

© Sojag inc. 2018



4

A X 4 B X 2

C X 2

E X 4

D X 4

F1 X 2

B1 X 2 B2a X 2

B2b X 2

C2a X 2

C2b X 2

C1 X 2

F2 X 2

F3 X 2 F4 X 2

E1 X 4

© Sojag inc. 2018



5

R1 X 2

K1 X 1

L2 X 4

K X 1

W X 4

L1 X 4

H X 4

M2 X 8

J1 X 2

M4 X 4

M5 X 88

W1 X 4

R2 X 2

M1 X 4

I X 4

J X 2

M3 X 4

© Sojag inc. 2018

(+5)



6

D1 X16

308.5 cm / 121.5 in

20
2 

cm
 /

 7
9.

5 
in

308.5 cm / 121.5 in

20
2 

cm
 /

 7
9.

5 
in

R X 56

Q X 52 Q X 52 

Net Curtainoptional optional

X41 X42

optional optionalZs X 1

© Sojag inc. 2018

 (+1) (+2)

 (+3)  (+3)

N X 2 N1X 2 N6X 2 N7X 2

N2X 2 N3X 2 N4X 2 N5X 2



7

308.5 cm / 121.5 in

20
2 

cm
 /

 7
9.

5 
in

308.5 cm / 121.5 in

20
2 

cm
 /

 7
9.

5 
in

© Sojag inc. 2018

P X 2 P1X 2 O X 2 O5X 2

O1X 2 O2X 2 O3X 2 O4X 2

P2 X 2 P3 X 2 P4 X 2 P5 X 2



V
M1

M1

A
A

1/19

X4

M1x4Vx12 A x4

W2 X1© Sojag inc. 2018 9



D

D

B

B

C

C

B1

B1

C1

C1

V

V

1

1

2/19

D x4

Cx2

Vx24

Bx2

C1x2 B1x2

X2

X2

X4

1

W
2

X1

© Sojag inc. 201810



B

B

B

C

C

U

B1

B1

B1 C1

C1

U

1

1

1

1

1

1

3/19

X8

Ux16

1

W2 X1

2+

© Sojag inc. 2018 11
W2 X1




